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; 100kN/m%E#8z5| 1.00 | 000 ~ 0380 104.39 |3mZEBZB| — ~ — — — | 100kN/M#ZE#BZ 5 | 1.00 | 1057 ~ 1140 104.59 |3mZERBZS -~ — — —
ThList 100030 ~ 808 100.00 | =hst | 000 ~ 808| 2.14 10.82 ThList 1.00 | 500 ~ 1057 100.00 | FThLS | 6.00 ~ 11.40]| 2.14 10.82
2 100kN/m%E#8z5| 1.00 | 000 ~ 115 11731 |3mZEBZB| — ~ — — — | 100kN/M%#B2 5| 1.00 | 1202 ~ 1600 117.31 |3mEBZ5 - ~ — — —
ThList 100|115 ~ 893 100.00 | =hLst | 000 ~ 893 | 2.69 13.60 ThList 1.00 | 500 ~ 1202 100.00 | ThLS | 5.00 ~ 16.00| 2.69 13.60
P 100kN/m%E#8z5| 1.00 | 000 ~ 115 11731 |3mZEBZB| — ~ — — — | 100kN/M%#B2 5| 1.00 | 1202 ~ 1600 117.31 |3m&EBZ5 - ~ — — —
ThList 100|115 ~ 893 100.00 | =hLst | 0.00 ~ 893 | 2.69 13.60 ThList 1.00 | 500 ~ 1202 100.00 | FThLS | 5.00 ~ 16.00| 2.69 13.60
4 100kN/m%E#8z5| 1.00 | 0.00 ~ 264 141.62 |3mEBZB| — ~ — — — | 100kN/ Mm% BZ 5| 1.00 | 10.70 ~ 2210 141.62 |3mZERBZS - ~ — — —
ThList 1.00 | 264 ~ 1043 100.00 | ThLSY | 000 ~ 1043 2.83 14.29 s 1.00 | 500 ~ 1070 100.00 | FThLS | 5,00 ~ 2210| 2.83 14.29
5 100kN/m%E#8z5| 1.00 | 0.00 ~ 264 141.62 |3mEBZB| — ~ — — — | 100kN/ Mm% 825 | 1.00 | 10.70 ~ 2210 141.62 |3mZERBZS - ~ — — —
ThList 1.00 | 264 ~ 1043 100.00 | ThLSY | 000 ~ 1043 2.83 14.29 s 1.00 | 500 ~ 1070 100.00 | FThLS | 5,00 ~ 2210| 2.83 14.29
s 100kN/m%#82x%| 1.00 | 000 ~ 302 14811 |3mEBz3| 000 ~ 022|812 15.77 | 100kN/mM#%E#BZB | 1.00 | 10568 ~ 2580 148.11 |3m%ERBZB| 2500 ~ 2580 | 3.12 15.77
ThList 1.00 ] 302 ~ 1081 100.00 | ThL4t | 022 ~ 1081 3.00 15.16 s 1.00 | 500 ~ 1058 100.00 | FThLs | 5.00 ~ 2s5.00| 3.00 15.16
7 100kN/m%#BZ5| 1.00 | 000 ~ 297 14716 |3m&E#BZB| 000 ~ 0.10| 5.05 15.42 | 100kN/mM#ZERBZ B | 1.00 | 1053 ~ 2600 147.16 |3mERBZB| 2500 ~ 2600 | 3.05 15.42
ZTh Lt 1.00] 297 ~ 1075 100.00 | ThLS | 0.10 ~ 1075| 3.00 15.16 s 1.00 | 500 ~ 1053 100.00 | ThS | 5.00 ~ 2s5.00| 3.00 15.16
g 100kN/mM%#BZ 5 — - ~ — — |3mZEEZB| — ~ — — — | 100kN/m%#B %% — - ~ — — |3m%EHZ D -~ — — —
Ths 1.00 | 0.00 ~ 469 5845 | #=nLst | 000 ~ 469 1.83 9.25 zhst 1.00 | .00 ~ 5.00 5845 | #Fhst | 6.00 ~ 500 1.83 9.25
9 100kN/mM##BZ 5 — - ~ — — |3mEEZB| — ~ — — — | 100kN/m%#B %% — - ~ — — |3m%EHZ D -~ — — —
Ths 1.00 | 0.00 ~ 469 5845 | #=nLst | 000 ~ 469 1.83 9.25 zhst 1.00 | .00 ~ 5.00 5845 | #Fhst | 6.00 ~ 500 1.83 9.25
10 100kN/mM##BZ 5 — - ~ — — |3mEEZB| — ~ — — — | 100kN/m%#B 2% — - ~ — — |3m%EHZ D -~ — — —
ThLlst 1.00 | 0.00 ~ 382 48.00 | #Fhst | 000 ~ 3582|212 10.73 Thilst 1.00 | 6.00 ~ 5.00 48.00 | #nS | 5.00 ~ 500 2.12 10.73
17 100kN/mM##BZ 5 — - ~ — — |3mEEZB| — ~ — — — | 100kN/m%#B %% — - ~ — — |3m%EHZ D -~ — — —
ThList 1.00 | 0.00 ~ 382 47.97 | =nRS | 000 ~ 382|212 10.74 ThList 1.00 | 5.00 ~ 56.00 47.97 | Ths | 600 ~ 500 2.12 10.74
100kN/mM##BZ 5 ~ ImEEZD ~ 100kN/m%#8% % ~ ImEBZD ~
Ths ~ Zhs ~ Zhs ~ Th s ~
100kN/mM##BZ 5 ~ ImEHEZD ~ 100kN/m%#8% % ~ ImEBZD ~
Ths ~ Zhs ~ Zhs ~ Th s ~
100kN/mM##BZ 5 ~ ImEHEZD ~ 100kN/ Mm% % % ~ ImEBZD ~
Zhs ~ Zhs ~ Zhs ~ Th s ~
100kN/ Mm% Z 5 ~ ImEEZD ~ 100kN/ Mm% % % ~ ImEBZD ~
zhs ~ zhs ~ zhs ~ Th s ~
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